EARAROBEEIERT — 2 N— IBISH —F

201943F28H () 13mE@F14H

mﬂﬁ%—ﬂﬁ Cc3 (w8 | mEmml - |5 5 o s
[AE4£] 17 :800,000 3 ~ 23#%&:280,000 3 ~ 33#&:160,000 . 4 7 :120,000 M 5 j&:84,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N g - : -4-3- - S 1 G
117l g| /SR FvT o4 sﬁgﬂaﬁi 1.(3_0).2 5-4-3-1 | 40.1 1 446 Eﬁﬁtj (%)
SNRVTSY BAUTy RF=— (+4) Ei=Yie]
A e EEETN .31 _3-0_ . — KEFEE ()
7 c FAERA 1P e e Zome 4l ! :ﬁ; Emm
R:E>r/07Aa4 B:A7YF—KTOvy HET77—L
— s BAE : —6-6- - FILES (GaFn)
sl 3| TravAT v — o4 T A AR ’ f; AT
RiFATATv— Biky Yzl FAAAT7— I
= REHE : -10-9- — gye (GFn)
4 o | INRTS R it 4 Bl 1(/731[:)7 10-10-9-8 | 39.2 6 (4_751) e
Ri=5—297 B:T1575>H () #HAA-—KL—Ya>BETr
N 4 | MEEE 1:31.8 4-1-4-3 | 41.7| — 492 | FEAIERE (AR
518l11| 7 KN RT 7> g 56.0 7E) ’ ’ (+?9) ;D_“‘)W—EZ ()
L:N—HINK B:hA4T7FH1 b [piLie]
S . s 4 | DEEANIE 1:32.1 3-5-5-4 |41.5| — 4 446 | /IMAEE ()
6 4|\ THYavTa—> 54.0 (1 1/2) 14y | BIIEE
:O0-K7h71~% B:¥vyb=uT HE BE
N o FERE : -8-7- - R GaFn)
ARIRE A E Y ELK T o4 R 1.(322>.5 8-8-7-7 | 41.2 5 (4;15) b=t
v TRy b BOAXRENEZTIA EvJLy RT7—L4
R FAITEEAR . —11-10— — I (GAFn)
8 6| IF/HE—L it 4 r 1.(333).1 11-11-10-10{ 40.0 10 <4+o16) et
R:dr—3I)F7> B:eLITLAE FoE RIE
o o s EATE :33. -2-1- . - FLEA (GEF)
9810/ 7V 7VTA L FL o 54.0 (11 313/24) I R ? (ﬁ; :’r’iﬂiﬁiﬁ
RO—XFL T L BT A RN G~ R R
o s H o4 el FHD 1:34.3 7-7-8-9 | 43.1 - 9 566 | RIS (GEFD)
10l5]5| 7By bFR1Z 56.0 @ 47 | ) DELooP
R:/TT)R N BTN T7 (B) #BEIA-FKL—Ya>AE77
S 4 4 | BRI 1:36.9 9-9-11-11 | 44.2 | — 1" 480 | EEBE (GHF)
1|z 8| TEAAI—N 54.0 (51%) (-1o) | HERZ
:d—IRnfa— B:FvI24 BRI
@ 1 — S —EBlIEf
13—74— 10,7,4,11,9,3,5,1,8,2,6
20—F— 11,10,7,9,4,3,5,1,8,2,6
Jol=5r= 10,7,9,11,4,3,1,5,2,6,8
40—+ — 9,7,11,4,10,3,1,2,5,6,8
[ N3
BB 9 180H4 714K 7-9 610M % E 6-7 1,670M 3EHE 3-7-9 2,400/
8 B 9 120 3-9 210M B 7-6 2,940M K31 9-7-3 9,500/
7 360M 3-7 1,110M B E 7-9 1,490
3 140M B 9-7 2,190M

ABICOVWTRDTEEERROODE. TR LIV,




